
All Rights Reserved
Printed in the USA

1

� 2005 by The Toro Company
8111 Lyndale Avenue South
Bloomington, MN  55420-1196

Mulching Kit
38 inch Mowers for TimeCutter� Z Riding Mower
Model No. 79207

Form No. 3329–346 Rev B

Installation Instructions

Note: Determine the left and right sides of the machine from the normal operating position.

Loose Parts

Note: Use the chart below to identify parts for assembly.

Description Qty. Use

Decal 1 Installing the decal

Discharge cover

Bolt, 1/4 x 2–3/4 inch

Nut, 1/4 inch

1

2

2

Installing the discharge cover

Installing the Decal
Install the decal on left side of mower (Fig. 1).

1

2

Figure 1
1. Mulching decal 2. Left side of mower

Installing the Discharge Cover
1. Stop the engine and remove the ignition key.

2. Lift the grass deflector and slide the tabs on top of the
discharge cover under the grass deflector retaining rod.
Rotate the discharge cover down over the opening, and
onto the lower lip of the mower (Fig. 2).

3. Secure the discharge cover to the lower lip of the
mower with 2 bolts (1/4 x 2–3/4 inch) and 2 nuts
(1/4 inch) (Fig. 2).

Note: Do not over-tighten the nuts, this could distort the
cover and cause blade contact.

1

6

5

43

6

5

2

m–6469

Figure 2
1. Grass deflector
2. Tabs under retaining rod
3. Discharge cover

4. Lower lip of mower
5. Bolt, 1/4 x 2–3/4 inch
6. Nut, 1/4 inch

Removing the Discharge Cover
To convert to side discharge mode do the following
procedure.

1. Stop the engine and remove the ignition key.

2. Remove the 2 bolts (1/4 x 2–3/4 inch) and 2 nuts
(1/4 inch) that secure the discharge cover to the mower
(Fig. 2).



2

3. Remove the discharge cover and lower the grass
deflector over the discharge opening.

Side Discharge or Mulch Grass

Danger

Without the grass deflector, discharge cover, or
complete grass catcher assembly mounted in place,
you and others are exposed to blade contact and
thrown debris. Contact with rotating mower
blade(s) and thrown debris will cause injury or
death.

• Never remove the grass deflector from the
mower because the grass deflector routes
material down toward the turf. If the grass
deflector is ever damaged, replace it
immediately.

• Never put your hands or feet under the mower.
• Never try to clear discharge area or mower

blades unless you move the power take off
(PTO) to disengage and turn the ignition key to
off. Also remove the key and pull the wire off
the spark plug(s).

Note: To use the mower in side discharge mode, only the
discharge cover must be removed. Mounting hardware
must be installed in open holes.

Ensure the mower has a hinged grass deflector that
disperses clippings to the side and down toward the turf,
while in side discharge mode.

To mulch grass clippings the discharge cover must be
installed into the opening in the side of the mower; refer to
Installing the Discharge Cover, page 1.

Mulching Tips
Selecting the Proper Height–of–Cut
Setting to Suit the Conditions

Remove approximately one inch or no more that 1/3 of the
grass blade when cutting. In exceptionally lush and dense
grass you may have to raise the height-of-cut setting
another notch or convert to side discharge or bagging
operations.

Mowing in Extreme Conditions

Air is required to cut and recut grass clippings in the
mower housing, so do not set the height–of–cut too low or
totally surround the housing by uncut grass. Always have
one side of the mower housing free from uncut grass,
allowing air to be drawn into housing. When making an

initial cut through the center of the uncut area, operate the
machine at a slower speed and back up if the mower starts
to clog.

Mowing at the Proper Intervals

Under normal conditions you’ll need to mow every
4–5 days. However, grass grows at different rates at
different times. Thus, in order to maintain the same
height-of-cut, which is a good practice, you’ll need to cut
more frequently in early spring; as the grass growth rate
slows in mid summer, cut only every 8–10 days. If you are
unable to mow for an extended period due to the weather
conditions or other reasons, convert to side discharge or
bagging options or mow first with the height-of-cut at a
high level; then mow again 2–3 days later with a lower
height setting.

Always Mow with Sharp Blades

A sharp blade cuts cleanly and without tearing or shredding
the grass blade like a dull blade. Tearing and shredding
causes the grass to turn brown at the edges which impairs
growth and increases susceptibility to disease.

Cleaning After Operating

To ensure optimum performance, clean the underside of the
mower housing. If residue is allowed to build up in mower
housing, cutting performance will decrease.



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveEPSInfo true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /Description <<
    /ENU (Use these settings to create PDF documents with higher image resolution for high quality pre-press printing. The PDF documents can be opened with Acrobat and Reader 5.0 and later. These settings require font embedding.)
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308030d730ea30d730ec30b9537052377528306e00200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /FRA <>
    /DEU <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
  >>
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


